Question Bank

fSfesF@ #19% ™ (Foundation Course)

Foundation Course in Science & Technology: FST

What does the history of science mean?

fFREg 3o I It (@RI?

Bronze is made by mixing which metals?
(q13 tofd F91 W @ (@9 §Tes frrer 5o 2

What is the Egyptian script called?

rEg o6 (& fF e =23 2

What is the extraordinary contribution of medical science in
India in the Iron Age?

(R e BfHF1 fFRIET IEET ST
f?

Kautilya's 'Arthashastra’ contains a lot of information about
the engineering development of which era?

@ TN @FF JPE T@ETe TIPS
AL O ARSI TH?

Which scientist corrected the ancient notion of planetary
rotation by inventing telescopes?

@@ @A @S I@E AEEE FE ©f TE RO
ARGEF MO HFNE KNGS FEA?

Who accurately measures the orbits of the planets?
TROF FEF WOF ARAT (F FEF ?

Which Indian physicist discovered the theory that plants
respond to stimuli?

@FE TReE TRIEE Sfemd TEeIN WGl (F8IF
Ot ANIFE FEA?

Who is the founder of ‘Bengal Chemical and Pharmaceutical
Works’?
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‘Bengal Chemical and pharmaceutical works’- (¢ IS
p(HA?

Which is the longest wavelength wave?

TG G ST & O (FIA0?

The red giant and the white dwaf these two stages of life can
be found in?

e WS (Red giant) 8 (T8 IMF ( White dwaf) 98 76
I FE FlIT T (R MST I ?

Whose satellite is Titan?

BROIT FIF OIIR?

Who artificially proves the theory of chemical expression and
the origin of life in the laboratory?

INAF SAfTHEIm 8 Aed ATSNET e (3
TRSENE Faw SE T FE ?

Which is correct according to the level of human expression?

TqET Ifefed I7 TR @FE6 T 2

What is the main source of energy in the ecosystem?

IWeET IV Tfed O3 fF?

What type of beneficial bacteria is present in the roots of
legume plants?

SAfFe A ?

Which of the following is not a cause of deforestation?

fasfafie @Fat JIINAF  ( Deforestation) FIFAT FI?

Which of the following plays a major role as an air pollutant?

forafifie (@@ I ROE [ T sz FE?

What substance is responsible for soil pollution?
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@A T FRFT GICE T =

What is the source of unconventional renewable energy?

SAfAES THRANFIT QT MFT TN (FEA6?

which one of the following is not possible to do through the
remote sensing?

g & (Remote sensing) 7 &I ffafie @&b
HT 8T o1F?

In what way is it possible to create high yielding, disease
resistant and highly nutritious plants or to create new plants
from a single plant cell?

@ Tafee O% BT, (@EIfeEE 8 TFe
RSN Sfewa B A1 930 Sfewd @FE (@
Tod M= ¥ Fa1 FET?

What kind of nutrients are present in potatoes?

e (FA Y[R (MBS T AFe?

Which vitamins are needed for proper build up of bones?
AT IYRY AT Sy (F 9 b I@sea 23?2

Goiter' is caused by a deficiency of which mineral?
SIS (15T (F1 A eI e =P

Which of the following is not a contagious disease?
fasfife @@ wEEF @51 97 ?

Insulin, the hormone that helps in the metabolism of sugars
in human body, is produced from which gland?

TAIOR A [TNE NRH-FE [ I (T
Sf% (@ TREF RW?

INSAT-1B satellite is associated with which mass
communication?

RATG- 1B CTIR (PN ST NHEEH T I?

How does the transfer of technology is possible?



feT [T F o [wI?

30 What does the word 'LASER' mean?

(TSNF  (LASER) g o F ?






